2 5 Vasx 7t A7 A s x O o A YL AL RFE
=29

@

ol ©

® 25 @ 45 ® 75

ot =



2. Px)e-Vx<n<0Q AFn gt & o, P(16) - P(2.5) 9
= kot

B e 7



3.

U B7]0)A Felag B

AL

ru

ar

[17]

—_

.2
V0, V3.6, 0.29, -

/1 /9
\/Zy_ E, 674’71'

H7

D +3.6,0.29
.2
©) «/3.6,0.29,—5
1
® V4, V36, - ‘/E’ n




4. M Fa= V8 b=2+ V2, c=3° d BAS HehfH?

D a<b<c @ a<c<b ® c<a<b

@ c<b<a ® b<a<c



5.  16.9 x V640 & AArsHH?

O 88 @ 104 ® 136 @ 144 ® 1040



AZree] Wol7h 2 Vis 43

il

W9 Zol7hav+ V3, E0l7H 23 ¢

6.

29

o, Felaa o g

o]
=

@ 2 ® 3 @ 4 ® 5

D1



—_—

H o] ZAo|7} 4v5em

o4

sholat,

g7

EEE

el
o

I

o o,

3V3
o

ol7}

cm

~

3/3

i
|/
/
“~4/5em-"
Cm3




+ 2)(x 4+ 3)(x — 2)(x — 3) 2] AIANA x2 o] A2} AF43t 2
29

Lelpee

@ -6 @ 6 ® 12 @ 18 ® 23



20 = xy?

@



VBB, VBB,

10. a 5 5 A o], V5(a+b)+ V3(a-b) E Fat

ofzt.

>
=%




11.

A4 11 o thste] Vil 9] A
EW3< Vil <4°]BR f(11)
= Fshodzt

D R
=%

HELS £(11) o]

S

(

o3 skt o

42) + £(77) ©



12 o % Wia) 93 o she



13. ()C - a)(2 72 = U:] - —’] 3 — 1
)C+3 = 2
) 2)6 ] ,2(1 b AX {7 (E b>0)

® -12 @ -9 ® o0 @ 3 ® 9



14.

(x+a)(x=3)=x>+bx+11 & o, a+ b2 27

31 29 28
©-% @-0 0-2 @-2



15. (2x-1)(2x+A) = (-2x+2)2+ Bx & @, A- B 9] gt2?

® -4 @ -2 ® 0 @ 2 ® 4



16. (3x-2y+ 1= AANF AN ] AeE Ayl AFE B S
o, A~ B2 27

@ 8 @ 4 ® 0 @ —4 ® -8



17. b= A< Axtstolzt

7(84+1)(82 +1)(8* +1)-88




AFL 7

3.9 o] A

2 V7 ot

317706
H i

1 7ffol



19.

o a7 & F AT
O F2? (Fa>0)

@ -12a

@ -124>

<= m, —V0.0144 5 nolatal & wff, m x 100n

®@ 12a

® -12042

3 1242






21. % %295 Aolo] Qe 4 FOIA i o) BR BAHE Rl
ARE? (& AHe)

@ 18 7 @ 19 7| 3@ 20 7 @ 21 7| ® 22 7|



57 +x =45 & o,

22.

@ 23 ® 1 @9 ® 3

O 32



23.

® 2xy

A o, thg AL 2] 5hA?

lxy = yzl = v/ (vz = x2)2 + Iyl + 4/ (x2)?

@ xy ® —xy @ -xz

® —2xy



24.

3 wlo] Z1o]7} 991 AALZG o
Apo]¢] A7} r o]5kl Aol
Fsfofet.

5 L
=%

=]



25.

abc#0,a+b+c=
o] gk& tstofet

> L
=%

i



